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QUESTION 1

Examine the code fragment from /etc/tgt/targets.conf:

<target ign.2013-03.com.example.mypc:1l>

<backing-store /iSCSIsharedDisk/physDiskl.img>
write—-cache off

</backing store>

<backing-store /iSCSIsharedDisk/physDiskZ.img>
Jun 1
write—cache off

</backing-store>

<backing-store /iSCSIsharedDisk/physDisk3.img>
lun . 3
write—-cache off

</backing-store>

</target>

Which statement is true?

A. The syntax is invalid and causes the parser to fail when the target service is started. No LUN assignments are made
and no disks are visible to the clients.

B. The syntax is invalid but defaults apply. If you assign any LUN addresses manually, then you must assign all for that
target. Therefore, default assignments apply. physDiskl.img = 1, phyDisk2.img = 2. phyDisk3.img = 3

C. phyDiskl.omg is assigned the next available LUN number above the existing allocated numbers. LUN = 4
D. phyDisk1.img is assigned the lowes available LUN number that is not assigned. LUN = 2

Correct Answer: C

QUESTION 2

Which two statements are true about a btrfs file system on a SSD flash disk? (Choose two.)
A. The TRIM/discard feature is enabled by default.

B. btrfs automatically turns off all optimizations for rotational media.

C. btrfs automatically detects SSD.

D. You must enable the SSD option during the creation of a btrfs file system.

Correct Answer: BD
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QUESTION 3

Which two actions are Linux containers best suited to perform? (Choose two.)
A. simplifying firewall setup

B. creating a lightweight virtualization environment

C. testing SELinux policy

D. controlling the resource usage of a set of applications

E. improving the performance of native applications

Correct Answer: BC

Reference: https://www.unixmen.com/docker-lightweight-virtualization-linux-containers/

QUESTION 4

Which statement is true about udev?

A. It is static kernel device naming scheme based on devfs.

B. It prevents device renaming upon reboot by default.

C. The udev configuration file is /etc/udev.conf.

D. Itis a dynamic kernel device naming scheme based on sysfs.
Correct Answer: C

udev expects its main configuration file at /etc/udev/udev.conf. The file consists of a set of variables and values allowing
the user to override default udev values.

QUESTION 5

Examine the listing of the /users directory:

5 1s -1 /users

total 22
—IwW--—————— . 1 root root 7168 Aug 1 12:10 aguota.user
QWX -———= . 2 root root 12288 Aug 1 10:35 lost+found

drwxy-xr-x. 3 cracle oinstall 1024 ABug 1 12:10 oracle

While checking your assigned dick quotas on the /users file system, you receive the following errors:
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£ guota -f fusers

gquota: cannot open guotafile fusers/aquota.user: Permission denied.

QquoTa: cannot open guotafile /fusers/agquorta.user: Permission dented.

gquota: cannot open gquotafile fusers/guota.user: No such Zile or directory.
guota: Not all specified mountpoints are using guota.

Identify the reason for these errors.

A. The /users file system is mounted without the usrquota option.

B. The /users file system is mounted without the grprquota option.

C. Quotas are disabled with the quotaoff command.

D. The permissions on /users/aquota.user are incorrect.

Correct Answer: D

Reference: https://linuxacademy.com/community/posts/show/topic/1177-problem-with-the-user-quotaslesson-Ipic-101
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